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Run 6149 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—
Entrie=: 40231
Mean: 12.3603 «/- 00020
St Dhey- 0.560% +~ 00020

=== Lager OFF ---
Entrie=: 15958
Mean: 26594 «- 00015
S Dhay: 0.280% - 00071

Run 6149 quartatwize, Diffs)

=== Laser O -—
Entries: 40231
Mean: -0.6450 «- 0002Y
Sid Dhey: 0LAG8T - 00007

=== Laser OFF ---
Enlries: 15968
Mean: -0.0084 - 0L001E
Sid Dey: 03482 -~ 00073

Run 6148 quartetwize, Asyms

=== Laser ON -—
Entries: 40231
Mean: -32. 1856 +/- 0.11648
Sid Dev: 23 4363 40~ (LDE2E

=== Laser OFF ---
Enlries: 15958
Mean: -0.3187 «- 0016
Sid Dev: 173742 40~ (WDGAE
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Run 6143 quartetwize, NegHalAcc)/NSamplas0

=== Laser O -—-
Entries: 40231
Mean: 1300583 &/~ 000029
Sid Dhey: 05895 & 0.0021

=== Lager OFF ---
Entries: 35958
Mean: 26658 +- 0.0016
Sid Dhey: 02953 & 0,001
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Run 6143 quartetwize, Sums0

=== Laser O -—-
Entries: 4231
Mean: 25,3655 - 00052
Sid Dev: 1.0489 - 00037

== Laser OFF ---
Entries: 35958
Mean: 53252 +/- 0.0025
Sid Dev: 0AGES - 00017
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Run 6149 quartetwize, Asyms4

=== Laser ON -—
Entries: 40231
Mean: -32 3582 4/- 0.085%9
Sid Dev: 180230 +/- OGS

=== Laser OFF ---
Enlries: 15958
Mean: -0. 1602 «/- 00442
Sid Drey: B.3ET0 +~ 00313
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Run 6143 quartetwize, Asyms USbgl
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=== Laser O -—
Entrie=: 40231
Mean: 00040 +- 0.0029
Sl Dhey- 0.5854 - 00021

=== Lager OFF ---
Entrie=: 15958
Mean: 0UOEET «- 0,003
Sid Dhey: OLGETE +- 00022
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Run 6142 quartetwize, Asyms DSbg1

=== Laser O -—
Entries: 40231
Mean: -0.0021 «/- 0UO0DE
Sid Dhey: 00948 - D003

=== Laser OFF ---
Enlries: 15968
Mean: -0.0036 «/- 0LO0DE
Sid Dey: 00962 - 00004
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Run §14% quartetwise, Asyms Horiz Fingar
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=== Laser ON -—
Entries: 40231
Mean: -0.0057 < 00012
Sid Dey: 02702 4~ 00070

=== Laser OFF ---
Enlries: 15958
Mean: -0.0002 «- 00016
Sid Dey: 03100 =~ 00072
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Run 6143 quartetwize, Asyms UShg2

=== Laser O -—-
Entries: 40231
Mean: -0.0018 «/- 002D
Sbd Dwew: 03927 &b 0.0074

=== Lager OFF ---
Entries: 35958
Mean: -0.00548 «- 00021
Sid Dev: 03926 - 00015
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Run 614% quartetwize, Asyms DShg2

Al 1

=== Laser O -—-
Entries: 4231
Mean: -0.03018 «/- 00004
Sid Dhev: 0L0ETY - 0003

== Laser OFF ---
Entries: 35958
Mean: -0.0022 «- 000)E
Sid Dev: 0.0E95 &~ 00003

0.2

Run 6149 quartetwise, Asyms Vert Finger

=== Laser O -—-
Entries: 40231
Mean: -0.0053 «- 0001 2
Sid Dev: 02436 - 00009

== Laser OFF ---
Entries: 35958
Mean: -0.3015 «/- 00016
Sid Dhev: 02892 - 0.00711
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